
Rearranging Equations 
(harder questions on next page) 

 

Rearrange to make each of the required variables the subject 
 
 

𝑉 = 𝐼𝑅 𝑅 =   

𝐶 = 2𝜋𝑟 𝑟 =   

𝐴 = 𝜋𝑟2 𝑟 =   

𝑣 = 𝑢 + 𝑎𝑡 𝑢 =  𝑎 =  

𝑒 = 𝑚𝑐2 𝑚 =  𝑐 =  

𝑣2 = 𝑢2 + 2𝑎𝑠 𝑢 =  𝑎 =  

𝐴 =
𝑏ℎ

2
 𝑏 =   

𝐴 =
ℎ(𝑎 + 𝑏)

2
 ℎ =  𝑎 =  

1

𝑅𝑇
=

1

𝑅1
+

1

𝑅2
 𝑅1 =   

𝑥 =
−𝑏 ± √𝑏2 − 4𝑎𝑐

2𝑎
 𝑐 =  𝑎 =  

  



Harder Rearranging Equations 
 

(where the term to become the subject features twice in the original equation) 
 
 

𝑦 =
𝑝𝑡

𝑝 − 𝑡
 𝑡 =   

𝑎 =
2 − 7𝑏

𝑏 − 5
 𝑏 =   

𝑥

𝑥 + 𝑐
=
𝑝

𝑞
 𝑥 =   

𝑝 =
𝑛2 + 𝑎

𝑛 + 𝑎
 𝑎 =   

𝑥 =
𝑝 − 𝑞

𝑝𝑞
 𝑝 =  𝑞 =  

5(𝑥 − 3) = 𝑦(4 − 3𝑥) 𝑥 =   

𝑝 =
3 − 2𝑡

4 + 𝑡
 𝑡 =   

𝑅 =
𝑎𝑏

𝑎 + 𝑏
 𝑎 =  𝑏 =  

𝑦 =
𝑥 + 1

𝑥 + 2
 𝑥 =   

𝑝 =
3𝑎 + 5

4 − 𝑎
 𝑎 =   

 
 


